/

0 \
VARMIE SEE

\/ ~

G0 T

N

=N

&

(A
S=1:20, 000
TR AR TR B R TP

i =N

W HE T B, "
N i
7 =

7

101
b © 8aRn

103

Yo% @

105
Ve @ wls

(WVO) &a@
® a5t 79751

ORI

4

\

)
123@ 104
T

{?
= /
84% n M

N

gl =~




o

£ RAEMTE X
Z A | EILHEMEED 2REHFMRETEE
£ L TRMEKXEERISE
& R 1:100
BR#E (S1) =7.3
##E (C) =5.8

IS

a9 ) — FEERE GW-L-I
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WLES 1 MER R KLY 2. 5Kmith =

RYEST =7.3x%x22.0=160. 6m3
HHE (C) =5.8x%x22.0=127. 6m3
MR T =0.80x22.0=17. 6m3

%1+ =160.6+17.6-127. 6=50. 6m3
(2. OkmEHE)




